

## The Sum of Irreducible Fractions with Consecutive Denominators Is Never an Integer in $PA^-$

Victor Pambuccian

**Abstract** Two results of elementary number theory, going back to Kürschák and Nagell, stating that the sums  $\sum_{i=1}^k \frac{m_i}{n+i}$  (with  $k \geq 1$ ,  $(m_i, n+i) = 1$ ,  $m_i < n+i$ ) and  $\sum_{i=0}^k \frac{1}{m+in}$  (with  $n, m, k$  positive integers) are never integers, are shown to hold in  $PA^-$ , a very weak arithmetic, whose axiom system has no induction axiom.

A well-known problem in elementary number theory asks one to show that the sum

$$1 + \frac{1}{2} + \cdots + \frac{1}{n}$$

is never an integer for  $n \geq 2$ . The proof one often finds offered for this fact is based on Chebyshev's theorem (Bertrand's postulate). If one asks for a proof that, more generally, the sum

$$\frac{1}{n} + \frac{1}{n+1} + \cdots + \frac{1}{n+k},$$

with  $k \geq 1$ , can never be an integer, then the proof based on Chebyshev's theorem needs to be amended. One first notes that, if  $k < n$ , then the above sum must be less than 1, and thus cannot be an integer, and if  $k \geq n$ , then one applies the same proof based on Chebyshev's theorem. (This fact seems to have been overlooked by Oblath [8], who wants to use Chebyshev's theorem, but finds himself constrained to use, in case  $k < n$ , another result, the Sylvester-Schur theorem, as well.) However, Kürschák [5] (see also Pólya and Szegő [9], Problem 251; Sierpiński [10], p. 139; DeTemple [2]; and Farmer [3]) found a much simpler proof which relies on the very simple observation that among any number ( $\geq 2$ ) of consecutive positive integers there is precisely one which is divisible by the highest power of 2 from among all the

given numbers. Aside from its didactic use, one may wonder whether Kürschák’s proof is not in a very formal way much simpler, that is, whether it does not require simpler methods of proof in the sense of formal logic.

When formalized, arithmetic is usually presented as Peano Arithmetic, which contains an induction axiom schema, stating, loosely speaking, that any set that can be defined by an elementary formula in the language of arithmetic (i.e., in terms of some undefined operation and predicate symbols such as  $+$ ,  $\cdot$ ,  $1$ ,  $0$ ,  $<$ ), which contains  $1$ , and which contains  $n + 1$  whenever it contains  $n$ , is the set of all numbers. Several weak arithmetics have been studied in which the types of elementary formulas allowed in the definitions of the sets used in induction are restricted by certain syntactic constraints (see D’Aquino [1]). One might think that Kürschák’s proof would make it in a weaker formal arithmetic than the one dependent on Chebyshev’s theorem. It turns out, in fact, that no amount of induction is needed at all!

To see this, let’s first generalize the problem further, along the lines of the generalization in Oblath [7], so that there can be no proof based on Chebyshev’s theorem.

**Theorem 1** *The sum*

$$\frac{m_0}{n} + \frac{m_1}{n+1} + \dots + \frac{m_k}{n+k} \tag{1}$$

with  $(m_i, n + i) = 1$ ,  $m_i < n + i$ , and  $k \geq 1$ , is never an integer.

**Proof** ([5], [2]) Let  $a = \max\{a : 2^a | (n + i) \text{ for some } 0 \leq i \leq k\}$ . Then  $2^a$  divides exactly one of the numbers  $n, n + 1, \dots, n + k$ . (If we had  $n + i = 2^a(2r + 1)$  and  $n + j = 2^a(2s + 1)$ , with  $0 \leq i < j \leq k$ , then  $n + i < 2^a(2r + 2) < n + j$ , contradicting the maximality assumption on  $a$ .) Let  $l = \text{lcm}(n, n + 1, \dots, n + k)$ . Notice that  $l$  must be even, and that only one of the integers  $l \cdot \frac{m_i}{n+i}$  is odd (the one with  $2^a | (n + i)$ ). Suppose the sum in (1) is an integer  $b$ . Multiplying both (1) and  $b$  by  $l$ , we obtain on the one hand an odd number, as the sum of (several) even numbers and of one odd number, and on the other the even number  $lb$ , which have to be equal.  $\square$

Moreover, to make it a theorem of arithmetic, we will do away with the fractions appearing in it, and state it, for all positive  $k \in \mathbb{N}$ , as  $\varphi_k$ , the following statement (where, for  $u \geq 1$ , we denote by  $\bar{u}$  the term  $((\dots((1 + 1) + 1) + \dots) + 1)$ , in which there are  $u$  many 1s, and we let  $\bar{0} = 0$ ; the terms  $\bar{u}$  will be referred to as *numerals*)

$$\begin{aligned} & (\forall n)(\forall m_0) \dots (\forall m_k)(\forall p) \bigvee_{i=0}^k ((\forall a)(\forall b) m_i a \neq (n + \bar{i})b + 1) \vee \bigvee_{i=0}^k n + \bar{i} < m_i \\ & \vee \sum_{i=0}^k (m_i \prod_{0 \leq j \leq k, j \neq i} (n + \bar{j})) \neq p \prod_{j=0}^k (n + \bar{j}). \end{aligned} \tag{2}$$

The first disjunct of this formula states that  $m_i$  and  $n + \bar{i}$  are not relatively prime (i.e., that  $(m_i, n + i) \neq 1$ ); the second, that one of the conditions  $m_i < n + \bar{i}$  does not hold (the case  $m_i = n + \bar{i}$  is covered by the first disjunct); and the third one, that the sum in (1) is not equal to  $p$ . We have not explicitly stated that  $n \neq 0$  and  $m_i \neq 0$ , as this was not necessary. If  $m_i = 0$ , then, for all  $b$ , we have  $(n + \bar{i})b + 1 \neq 0$ , so the first disjunct holds. If  $n = 0$  and  $m_0 \neq 0$ , then  $n + \bar{0} < m_0$ , and the second disjunct holds for  $i = 0$ .

The arithmetic which we will show that (2) holds in is  $\text{PA}^-$ , which is expressed in a language containing as undefined operation and predicate symbols only  $+$ ,  $\cdot$ ,  $1$ ,

0, and  $<$ , and whose axioms A1–A15 were presented in Kaye ([4], pp. 16–18). We will repeat them here for the reader's convenience, and we will omit the universal quantifiers for all universal axioms.

- A 1**  $(x + y) + z = x + (y + z)$   
**A 2**  $x + y = y + x$   
**A 3**  $(x \cdot y) \cdot z = x \cdot (y \cdot z)$   
**A 4**  $x \cdot y = y \cdot x$   
**A 5**  $x \cdot (y + z) = x \cdot y + x \cdot z$   
**A 6**  $x + 0 = x \wedge x \cdot 0 = 0$   
**A 7**  $x \cdot 1 = x$   
**A 8**  $(x < y \wedge y < z) \rightarrow x < z$   
**A 9**  $\neg x < x$   
**A 10**  $x < y \vee x = y \vee y < x$   
**A 11**  $x < y \rightarrow x + z < y + z$   
**A 12**  $(0 < z \wedge x < y) \rightarrow x \cdot z < y \cdot z$   
**A 13**  $(\forall x)(\forall y)(\exists z)x < y \rightarrow x + z = y$   
**A 14**  $0 < 1 \wedge (x > 0 \rightarrow (x > 1 \vee x = 1))$   
**A 15**  $x > 0 \vee x = 0$

What is missing from  $PA^-$ , and makes it so weak (indeed, the positive cone of every discretely ordered ring is a model of  $PA^-$ ), is the absence of any form of induction.

The proof that  $\varphi_k$  holds in  $PA^-$  will be carried out in an arbitrary model  $\mathfrak{M}$  of  $PA^-$ . The idea of proof will be to show that all variables that appear in  $\varphi_k$  must be numerals. An essential ingredient of the proof is the following fact, which holds in  $PA^-$  (see [4], Lemma 2.7, p. 22), for all positive  $k \in \mathbb{N}$ ,

$$x < \bar{k} \rightarrow x = 0 \vee x = 1 \vee \dots \vee x = \overline{k-1}, \quad (3)$$

and which allows us to deduce that any element which is bounded from above by a numeral must be a numeral.

Suppose that, for some positive  $k \in \mathbb{N}$ ,  $\varphi_k$  does not hold in  $\mathfrak{M}$ . Then, for all  $i = 0, \dots, k$ , there are  $m_i, p, a_i$  and  $b_i$ , with  $m_i a_i = (n + i)b_i + 1$  and  $m_i < n + \bar{i}$ , and such that

$$\sum_{i=0}^k (m_i \prod_{0 \leq j \leq k, j \neq i} (n + \bar{j})) = p \prod_{j=0}^k (n + \bar{j}). \quad (4)$$

This can be rewritten, by leaving only the first term of the sum on the left-hand side and sending all others to the right-hand side with changed sign (subtraction being meaningful by A13), as  $m_0(n + \bar{1}) \dots (n + \bar{k}) = nq$ , where by  $q$  we have denoted

$$p \prod_{j=1}^k (n + \bar{j}) - \left( \sum_{i=1}^k m_i \prod_{1 \leq j \leq k, j \neq i} (n + \bar{j}) \right).$$

The product  $(n + \bar{1}) \dots (n + \bar{k})$  can also be written as a polynomial in  $n$ , whose constant term is  $\bar{k}!$ , that is, as  $nr + \bar{k}!$ ; thus  $m_0(nr + \bar{k}!) = nq$ . Given that there are  $a_0$  and  $b_0$  such that  $m_0a_0 = nb_0 + 1$ , if we multiply both sides of the equality  $m_0(nr + \bar{k}!) = nq$  by  $a_0$  we obtain  $(nb_0 + 1)\bar{k}! = n(a_0q - a_0m_0r)$ ; thus  $\bar{k}! = n(a_0q - a_0m_0r - b_0\bar{k}!)$ . We know that  $\mathfrak{M}$  must contain a copy of  $\mathbb{N}$ , and it may contain other elements as well, called *nonstandard* numbers. Could  $n$  be in  $\mathfrak{M}$  but not of the form  $\bar{m}$  for some  $m \in \mathbb{N}$ ? If it were such an element of  $\mathfrak{M}$ , then it would be greater than all  $\bar{m}$  with  $m \in \mathbb{N}$ , and thus so would  $n(a_0q - a_0m_0r - b_0\bar{k}!)$ , unless  $a_0q - a_0m_0r - b_0\bar{k}! = 0$ , which cannot be the case, as  $\bar{k}!$  is not zero. However,  $n(a_0q - a_0m_0r - b_0\bar{k}!)$  cannot be greater than all  $\bar{m}$  with  $m \in \mathbb{N}$ , for it is equal to such a number, namely, to  $\bar{k}!$ . Thus  $n$  must be an  $\bar{m}$  for some  $m \in \mathbb{N}$ . Given that  $m_i < n + \bar{i}$ , the  $m_i$  must be numerals as well, and thus all variables appearing in (4), except  $p$ , must be numerals. Thus  $p$  is a numeral as well, for else the right-hand side in (4) would be greater than the left-hand side. This means that in (4) all variables are numerals. However, we know from K\"{u}rsch\"{a}k's proof that such an equation, involving only numerals, cannot exist. Thus, for all  $k \in \mathbb{N}$ ,  $\varphi_k$  holds in  $\text{PA}^-$ .

Another generalization of the original problem, proved by Nagell [6], states that the sum

$$\frac{1}{m} + \frac{1}{m+n} + \frac{1}{m+2n} + \dots + \frac{1}{m+kn}$$

is never an integer if  $n, m, k$  are positive integers. The proof is rather involved and uses both a K\"{u}rsch\"{a}k-style argument and Chebyshev's theorem. This statement turns out to be, with  $\bar{k}$  instead of  $k$ , valid in  $\text{PA}^-$  as well. To see this, let, for all positive  $k \in \mathbb{N}$ ,  $v_k$  stand for

$$(\forall m)(\forall n)(\forall p) m > 0 \wedge n > 0 \rightarrow \sum_{i=0}^k \prod_{0 \leq j \leq k, j \neq i} (m + \bar{j}n) \neq p \prod_{0 \leq j \leq k} (m + \bar{j}n), \quad (5)$$

and let  $\mathfrak{M}$  be again a model of  $\text{PA}^-$ . Notice that, if  $m > \bar{k}$ , then  $\neg v_k$  cannot hold for any  $n$  and  $p$ . To see this, suppose that, for some  $n$  and  $p$ , we had equality in (5). Given that  $(m + n) \dots (m + \bar{k}n)$  is the largest of all the summands on the left-hand side, and there are  $\bar{k}$  summands, the sum on the left-hand side is  $\leq \bar{k}(m + n) \dots (m + \bar{k}n)$ , and thus  $< m(m + n) \dots (m + \bar{k}n)$ ; thus equality cannot hold in (5). Thus  $m \leq \bar{k}$ , and thus, by (3),  $m$  must be standard; that is, it must be  $\bar{u}$  for some  $0 < u \leq k$ . It remains to be shown that  $n$  must be standard as well. To see this, suppose again that, for some  $n > 0$  and  $p$ , we have equality in (5). Notice that, since  $m(m + 2n) \dots (m + \bar{k}n)$  is the largest product among all  $\prod_{0 \leq j \leq k, j \neq i} (m + \bar{j}n)$ , for  $i = 1, 2, \dots, k$ , the sum on the left-hand side of our equality is  $\leq (m + n) \dots (m + \bar{k}n) + \bar{k}m(m + 2n) \dots (m + \bar{k}n)$  (with equality if and only if  $k = 1$ ). Thus  $pm(m + n) \dots (m + \bar{k}n) \leq (m + n + \bar{k}m)(m + 2n) \dots (m + \bar{k}n)$ , which implies  $pm(m + n) \leq m + n + \bar{k}m$ . If  $n$  were nonstandard, then this inequality were possible only if  $pm = 1$ , that is, if  $p = m = 1$ , which is not possible, for in that case the first summand on the left-hand side of (5) is equal to the right-hand side; thus the left-hand side must be larger than the right-hand side, so equality could not have taken place in (5). Now that  $m, n, k$  have all been shown to be standard, Nagell's proof implies the truth of our statement, which thus holds in  $\text{PA}^-$ .

Although the proofs that  $\varphi_k$  and  $v_k$  hold in  $\text{PA}^-$  can be turned into formal derivations from the axioms of  $\text{PA}^-$ , their length will depend, in the form presented by us,

on  $k$ . If there were no proofs with length not depending on and increasing with  $k$ , then one may see this as a trade-off for the parsimony in assumptions. Weakening the axiom system would lengthen the proofs.

### References

- [1] D'Aquino, P., "Weak fragments of Peano Arithmetic," pp. 149–85 in *The Notre Dame Lectures*, vol. 18 of *Lecture Notes in Logic*, A. K. Peters, Wellesley, 2005. [Zbl 1084.03046](#). [MR 2144345](#). [426](#)
- [2] DeTemple, D. W., "The noninteger property of sums of reciprocals of successive integers," *The Mathematical Gazette*, vol. 75 (1991), pp. 193–94. [425](#), [426](#)
- [3] Farmer, T., "Density of harmonic sums," *The College Mathematics Journal*, vol. 28 (1997), pp. 409–410. [425](#)
- [4] Kaye, R., *Models of Peano Arithmetic*, vol. 15 of *Oxford Logic Guides*, The Clarendon Press, New York, 1991. [Zbl 0744.03037](#). [MR 1098499](#). [427](#)
- [5] Kürschák, J., "On the harmonic series," *Matematikai és Fizikai Lapok*, vol. 27 (1918), pp. 299–300. In Hungarian. [425](#), [426](#)
- [6] Nagell, T., "Eine Eigenschaft gewisser Summen," *Norsk Matematisk Forenings Skrifter*, vol. 13 (1923), pp. 10–15. [428](#)
- [7] Oblath, R., "Some number-theoretical theorems," *Matematikai és Fizikai Lapok*, vol. 27 (1918), pp. 91–94. In Hungarian. [426](#)
- [8] Oblath, R., "Über einen arithmetischen Satz von Kürschák," *Commentarii Mathematici Helvetici*, vol. 8 (1935), pp. 186–87. [425](#)
- [9] Pólya, G., and G. Szegő, *Problems and Theorems in Analysis. Vol. II*, German edition, Springer-Verlag, New York, 1976. Die Grundlehren der mathematischen Wissenschaften, Band 216. [Zbl 0359.00003](#). [MR 0396134](#). [425](#)
- [10] Sierpiński, W., *Elementary Theory of Numbers*, Monografie Matematyczne, Tom 42, translated from Polish by A. Hulanicki. Państwowe Wydawnictwo Naukowe, Warsaw, 1964. [Zbl 0122.04402](#). [MR 0175840](#). [425](#)

### Acknowledgments

I thank Andreas Blass for several corrections and suggestions, Justus Diller and an anonymous referee for having pointed out that the proof presented here can be transformed into a laborious syntactic proof.

New College of Interdisciplinary Arts & Sciences  
Arizona State University–West Campus  
PO Box 37100  
Phoenix AZ 85069-7100  
USA  
[pamb@math.west.asu.edu](mailto:pamb@math.west.asu.edu)